


A mahometer is used to measure the pressure of a gas fillod rectangular tank as shoy
Fig. below. It is assumed that the mass density of flyid inside the tank ~
L : ifi - kN "

The manometric fluid is water having specific weight IOF, IfAthe local atmogp]

pressure is 100 kPa, the absolute pressure within the tank ig -

400 cm

500 cm

gas

(A) 110kPa (B) 115kPa
(C) 117kPa | (D) 150 kPa

For a two dimensional flow havirig velocity pdtential function ¢ = 4xy and stream functic

e E(yz » xz) where x and y are in metres, the discharge between the stream lines passir

through the points (2,4) and (1,3) is :
A) 20m¥s B (B) 10m%¥s
" (C) 8m¥s ' (D) 16 m?/s

Al

| | - d Lift
Choose the wrong statement out of the followings mentioned connected with drag an
forces on immersed bodies : : Iy ' ‘

(A) For a stream lined body pressure. drag is very small

E’(;)) | 'i;:?i?l f o pressure drag is very large s velocity of flow increase
ag force on slend indvi .« decreases 2

- upto a Re = 2000 er cylindrical bodies

(D)  Lift force occurs on a body when there js symmet’y of fluid motion.
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8. Three forces A, B and C of magnitude 4N,
it It can be concluded that :

(A) A and B are perpendicular to each other
(B) B is non coplanar

6N and 10N acting on g particle are in equih]wiu

(C) Cis non concurrent

(D) B and C are acting in opposite dixjectio‘n

29.  Which of the following elements has simple cubic structure?

(A) Magnesium - (B) Polonium
(C) Titanium (D) | Aluminjum
80.  Which one of the following will decrease when the percentage of carbon increaseg?
(A) Hardness (B) Ductility
© Ultimate strength

- (D) Percentage of cementite

s half the diameter of B

(B) Diameter of A 1s twice the diameter of B
(C) Diameter of A is one-fourth the diameter of B
(D) Diameter of A is four time the diameter of B

82. The bulk modulus of metal Ais tw

ice of metal B and modulus
metal B, which one of the followin

of rigidity of A is three times o
g 18 correct? g

(A) The modulus of Elasticity of A is three times of B

- (B) The modulus of Elasticity of A is four times of B
(C)  The modulus of Elasticity of A is six times of B
@)

The modulus of Elasticity of A ig eight times of B
33. '

g statements is/are tcorrect'regarding the pressure angle of a cycloid
gear tooth profile? . _

(1) Pressure angle is constant throughout the profile
(i1) Pressure angle 1s zero at the pitch point
(iii) Pressure angle is maximum at th,
(iv)’ Pressure angle varies
(A) () only
(B) (i) and (iii) only
(C) (m) and (iv) only :
(D) i), (iii) and (iv) only

e beginning and end of contact
from point tg point















56. A flue gas contains
i 0, and N,. The mixture contains 14% CO, and 6% O, by mole. If

the flue gas is at 2
00°C anq 765 mm Hg pressure, partial pressure of N, in the mixture is :
(A) 107 mm Hg

B) 212 mm Hg
(C) 50 mm Hg (B

(D) 612mm Hg

E vzzelne: tI};etIil With a moigtyye content 60% enters a drier and leaves with 10% moisture
c e product flow rate is 500 kg/h, feed to the drier and water removed (in kg/h) are

respectively :
(A 1125 and 625 (B) 1225 and 635
(©) | 750 and 250 , (D) 850 and 350

‘ 58 Pick out correct statement related with Amagat s law
(A) Volume of gas mixture equals sum of pure component volumes at the same
temperature and pressure as that of the mixture

(B) Pressure of gas mixture equals sum of pure component pressures at the same
temperature R 0 : :

(C) Partial pressure of a component in mlxture is product of mole fraction and total
pressure :

(D) Both (B) and (C)

,4 Dew point method can be used to measure:: | A N
(A) Absolute humidity _ (B) Partial pressure of vapour

(C) Dew point (D) All the above

ometers are based on the prmc1p1e of :
- B) Dalton s law
| D) K;rchoﬁ’s law

. (Gas expansion therm
i (A) Ideal gas law
. (O) Planck’s law

ing i used for level measurement in open vessels?
ow g

1. Which of the foll
R (A) rotameter
(C) hydrometer

(B). * air-trap system
(D) hygrometer

: here no offset is tolerable, is :
rOCeSS’ w 3 W ) .
Ccntroller suitable for @ P
: trollel'
nal cO
(A) Proporzlzna1 [ivative controller
Proportt troller
(B) P : nal ntegt 1con; : : |
(C) Proportio 41 Derivative controller

r
(D) Proportional [nteg
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